Nuan i Nad
2% | 2
BPAEEE S AT A
BRI BRI RS
A
e B =
B K e o g K R
252 OB314)
EREEEEK
EhER]  BEEEA R D4 Fi ST e B8 oy
1 S G HHEF 58,768 0.000 58,768.000
2 Hf A FEREF 5% 28,900 0.000 28,900.000
3 A ITAVD HARHMER D2 11,646 0.000 11,646.000
Gt 99,314 0.000(A)  99,314.000
Z Dt
AZB(G) | Fim 0 (H) [ Z (1)
pym gy | s 7 | G s D) | i ) | ek 0 1 0
N W NDfEMH I
100,771 100,770 99,314 1,450 1.44 0.000 0
(A): '%%%ﬁé‘% (B): #&20# (C): wWIhoEmHEIZbELZWED (D) : AR ER=(A)+(B)+(C)
(E): SEaisssy (F) : 258 =(D)+(E)
BRI = (F)+(G)+(H)— (1)

1/1



